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migs |MAR| &5 | KE | #GddH) &= migd  |MRA| F5 | AE [ GdH) &5
LA i3 3 729| 238,700 Rite it 2 728| 797,500
L4 k3 4 697| 251,900 RHESF it 2 753| 825,000
L4 i3 4 744 311,300 Rite k3 2 813| 860,200
L4 i3 4 754| 279,400 Rie k3 2 856 862,400
L4 i3 6 842| 339,900 Rite k3 2 865| 858,000
LA i3 7 884| 323,400 Rig k3 2 883 856,900
L4 i3 9 764| 288,200
.*DLF TS
X BELTVWIRMEIFTERIFTY, migd  |MRE| F5 | AE | EBdH) &E
X FREBERERTLTVETS, M4 i 3| 517 302500
M4 it 8 366/ 138,600
M4 it 10 583| 363,000
M4 i3 13 449] 135,300




